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1.a)

b)
c)
d)
e)

\\/hat do )/ou nt€an by group contmunicaticn?

Notc: This question paDer contains tu,o Darts A and B.
Pan A is cotnpulsory u'hich carries 20 ntarks. Ans*.er all queslions in Pai.t A.
Pa( B cot-tsisr.s of 5 Units. Answ'er any cn€ fuil question lron-i each unit. Each
quesiion carries I marks anC mav have a, b, c as sub questions.

i,ART - A

Erplain about instruclion erecu(ion.
\\tat are the diff'erent types of ediiors available in lJnix?
Explain about named pipes.

Explain aboul atomic transaction

2. Explain operating as resource

What are <iifierent ating

5.

Expiain gr'ep,

I:'.plain about i

6.a) What is a s-,,,s1s,,

E>lplain Lamports algorithnt ior clock si,ni
olL

IJxplain deadlocks in disit'ibuted ont:raiii'ts sysieils.

5 x 8 Mariis:40
I8l

lain their fe atures? t8l

rples.

rvith an.example.

s1'stem calls useci for process

i3l

t8l

lcrminaiion? Explain.
b) E>rpiai;r about name

OR
1.a) Explain about file and recorci locking.
b) E>:plain aboui sockets.

S.a) \\'r ite hrrdu are concepts oi distribuied s1,siems.
b) Erplain bus-based mul',iprocessoi-s a:id bus-based multi computers.

OR
9.") , Distinguish beit,eendistributeij operatiqgrsl,siem and nelworkoperatin_e s1,stem.
b) Explain about client -server model. [4+4]

i8l

t8l

creation and

[4+4)

f n t A)
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10.

11.

---oo0oo---


